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QUESTION 1

Which two statements are TRUE about Interactive Versions?

A. An Interactive Version is always attached to an Interactive Application.

B. An Interactive Version can contain Data Selection and Data Sequence set up.

C. An Interactive Version is a version of an Interactive Application with Its own source code.

D. An Interactive Version is an object that needs to be checked in for further deployment.

E. An Interactive Version Is used to hold the Processing Options values for an Interactive Application.

Correct Answer: AD

QUESTION 2

When logging on to Enterprise One which two statements are TRUE?

A. A user\\'s password for the Production Environment usually differs from the password used for the Test Environment.
B. If a user has multiple roles attached to his/her user-id, multiple passwords are required.

C. The password used on a fat client is identical to the password used on a Web client.

D. A user\\'s password for the Production Environment usually is identical to his/her password for the Test environment.
E. A user cannot have access to more than two environments.

Correct Answer: AE

QUESTION 3

Which of the following statements is TRUE about the fast path?

A. Consultants should advise customers to use the fast path.

B. The fast path is used to access applications

C. Users cannot specify a specific version of an application via the fast path.

D. Reports can be submitted by entering the report number in the fast path.

E. Security does not work when the fast path is used.

Correct Answer: B
http://www.google.com/url?sa=tandsource=webandcd=1andsqgi=2andved=0CBUQFjAAandurl=http%3

A%2F%2Fcitydocs.fcgov.com%2F%3Fcmd%3Dconvert%26vid%3D10%26docid%3D1022 426%26dt%
3DRFPandei=QbBDTrXIC8XNswaZ_Pm6Bwandusg=AFQjCNFCD_XA7rbNwfwtIX VQ9vylmXEerA
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QUESTION 4

Your client indicated that the standard delivered report does not meet their business requirement. You recommend that

they create a new report using the Financial Report Writer.

Which four statements are TRUE regarding the Financial Report Writer?

A. A Journal entry can be automatically created in the Financial Report Writer.
B. The level of detail roll up can be defined in the processing option.

C. Smart fields are used to calculate Period Activity and Account Balance.

D. The interim subtotal can be defined in the FSxx AAI item.

E. You can define a maximum of 12 printing columns.

Correct Answer:. ACDE

QUESTION 5

Which three statements related to the Journal Entry Reversal Control functionality are TRUE?
A. Enter a journal entry reversal the last day of the previously closed period.

B. Enter a journal entry reversal the first day of the next period.

C. Enter a journal entry reversal the last day of the next period.

D. A reversal journal will cause duplicate journal entries.

E. Journal Entry Reversal functionality is commonly used for entering accrual journal entries
Correct Answer: BCE

Explanation: download.oracle.com/docs/cd/B28728_01/jded/acrobat/xeeamo.pdf
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